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Q. Let (o.B,y) be the foot of perpendicular from the point((1,2,3) on the line XES _J ] = G then O
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Q. Atriangle is formed by vertices (0, 0), (x, ¥), (=, y) on xy — plane. If the point (x, y) and (-x, y) lies on CID
y = —x2 + 54, then maximum area of triangle is
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Q. For any real number x, Let [x] denote the largest integer less than or equal to x. The value of O
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Q. If Sndenotes sum of flrst n terms of an A.P. such that, Sz = 790, S10 = 145 ther- O
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Q. Aline making an angle 30° with positive x-axis at (4, 0). Now it is rotated by an angle 152 in clockwise O
direction. The equation of line is
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Q. Areabounded by curvesy2=4 (x—2)andy =2x—-8is O

37’: 4(n-2) :7
y:‘w«—?l

p
GETSCHOLARSHIP | NS
© RANKERS OFFLINE CLASSES NZLLTLE)| FORNEWADMISSION | GOOGLE FORM




@ RANKERS OFFLINE CLASSES EZXTNTTS] FORNEW ADMISSION ‘




/ P
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Q. Let A (2, 3, 5) and C (-3, 4, -2) be opposite vertices of a parallelogram ABCD. If the diagonal O

BD=i+ 2j + 3K, then area of parallelogram is equal to
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Q. If z = x+ iy, xy = 0 satisfy the equation z2 + iz = 0, then |z2| equal to O
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Q. If the length of the minor axis of an ellipse is equal to half of the distance between the foci then the O
eccentricity of the ellipse is
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M
Q. g(x) is non constant differentiable functions g[l] = g(g) and f(x) = %[g(x)+ a(2-x)] O
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